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 1. The Question Paper will be given in the form of a Question Booklet. There will be four 
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 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet 
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 9. Two blank pages are provided before the last page of this Question Paper for rough 
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marking your answers.

 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 
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 12. Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be 
deducted. No negative mark for unattended questions.

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure 
that the Invigilator has verified all the entries in the Register Number Coding Sheet and 
that the Invigilator has affixed his/her signature in the space provided.

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any 
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 1. The famous freedom fighter of Malabar, Mozhikunnath Brahmadattan Namboodiripad 

was born in

 A) Manjeri    B) Cheruplassery 

 C) Kalpathy   D) Payyannur

 2. Which of the following woman from Kerala was not a member of Constituent Assembly 

of India ?

 A) Dakshayani Velayudan B) Ammu Swaminathan

 C) Accama Cherian   D) Anne Mascarene

 3. Which of the following Viceroy is associated with IIbert Bill Controversy ?
 A) Lord Lytton B) Lord Minto C) Lord Rippon D) Lord Curzon

 4. Which foreign power captured Cochin in 1663 ?

 A) The Portuguese B) The French C) The British D) The Dutch

 5. The Second American Continental Congress in 1775 was held at

 A) New York   B) Philadelphia 

 C) Washington   D) San Francisco

 6.  Who wrote the book ‘The Spirit of Laws’ ? 

 A) Montesquieu B) Voltaire C) Rousseau D) Thomas Paine

 7. Name the treaty through which Russia withdraw from First World War.

 A) Treaty of St. Petersburg B) Treaty of Brest Litovsk

 C) Treaty of Versailles   D) Treaty of St. Germain

 8. Who was the British Governor General of India during the Revolt of 1857 ?

 A) Lord Canning    B) Lord Dalhousie

 C) Lord Elgin    D) Lord Lytton

 9. The Book Gandhiji wrote in 1909 was

 A) My African Years   B) My Experience with Truth

 C) Satyagraha : A New Way of Life D)  Hind Swaraj

 10. The Kerala leader who met Gandhiji at Tirunelveli in 1921 as a part of his fight against 

untouchability and caste system

 A) Dr. T. M. Nair    B) C. Sankaran Nair

 C) T. K. Madhavan   D) K. P. Raman Menon



 116/22 – M

A -3- 

 1. osmLr]Rs Nky]È y~LfNÍ| yoq SyjLj] SoLu]¨OÐ¾V Nmùh¾¢ jÒPf]q]ÕLaV 
  ^j]ˆfV.
 A) oSµq]   B) R\rO†Sêq] 
 C) Ws×L¾]   D) káÐP¡

 2. fLRuÕrpOÐvq]¤ SWqt¾]¤ j]ÐOç JfV Nñ}pLeV CÍ|¢ nqeZajL AyU‡]
p]¤ AUYoŠL¾fV ?

 A) hLƒLpe] SvsLpOi¢ B) AÚO y~Lo]jLg¢
 C) A¨LÚ R\r]pL¢   D) Bj] oØr}¢

 3. fLRuÕrpOÐvq]¤ JfV RRvSNyLp]pLeV C¤m¡ŸV m]¤ v]vLhvOoLp] mÌRÕŸ]
q]¨OÐfV ?

 A) SsL¡cV s]Ÿ¦ B) SsL¡cV o]S£L C) SsL¡cV r]Õ¦ D) SsL¡cV Wuõ¦

 4. 1663&¤ RWLˆ] k]a]ˆa¨]p v]Shww©] ?
 A) SkL¡ˆOY}yOWL¡ B) NlµV C) Nm]Ÿ}xOWL¡ D) cˆOWL¡

 5. 1775&¤ qºLoR¾ ASoq]¨¢ SWLº]Rj£¤ SWL¦NYôV jaÐfV.
 A) j|PSpL¡¨V   B) l]sLc¤l]p 
 C) vLx]UYVa¦   D) yL¢ NlL¢y]yVSWL

 6.  BqLeV ""j]po°tORa BÄLvV '' (The Spirit of Laws) IÐ kOñWU IuOf]pfV ? 
 A) SoLRºyVW|P B) SvL¥Ÿp¡ C) rPSôL D) SfLoyV RkpV¢

 7. KÐLU SsLW ozLpOÈ¾]¤ j]ÐV rx| k]¢vL°]p DaÒa]pORa SkqV ?
 A) Ry£V k}SãuVyVm¡YV DaÒa] B) RNmðV s]SãLvVØV DaÒa]
 C) Rv¡RRy¤yV DaÒa]   D) Ry£V R^¡RopV¢ DaÒa]

 8. 1857&Rs WsLkWLs¾V CÍ|pORa Nm]Ÿ}xV Yv¡e¡ ^jr¤ BqLp]qOÐO ?
 A) WLj]‚V NknO   B) c¤zTy] NknO
 C) I¤^]¢ NknO   D) s]Ÿ¦ NknO

 9. 1909&¤ YLÌ]^] IuOf]p kOñWU BeV
 A) IR£ BNl]¨¢ v¡x°¥ (My African Years) 
 B) IR£ yf|LSj~xe kq}ƒe°¥
 C) yf|LNYzU : KqO kOf]p ^}v]fq}f]   
 D)  z]ÎVy~qL^V

 10. RfLŸOWPaLpÜàOU ^Lf] v|vòàORof]qLp SkLqLŸ¾]R£ nLYoLp]1921&¤  
f]qORj¤Svs]p]¤ vˆV YLÌ]^]Rp Wº SWqt SjfLvV. 

 A) ScL. a]. IU. jLp¡   B) y]. wËq¢ jLp¡
 C) a]. RW. oLiv¢   D) RW. k]. qLo¢ SoSjL¢
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 11. Match the following.
    List – I  List – II
 a. Intertropical Convergence Zone I. Horse Latitude
 b. Westerlies II. Polar Front 
 c. Subtropical High III. Found between 30� and 60� latitudes
 d. Subpolar Low IV. Doldrum
 A) a – IV, b – I, c – III, d – II B) a – III, b – IV, c – I, d – II 
 C) a – IV, b – III, c – I, d – II D) a – I, b – IV, c – III, d – II

 12. The road density in Kerala 
 A) 548 km/100 sq. km.   B) 627 km/100 sq. km. 
 C) 258 km/100 sq. km.   D) 329 km/100 sq. km.

 13. Which of the following statements are correct ?
 a. Black colour is used for showing waterbodies of permanent nature in toposheet. 
 b. A map on 1 : 50000 scale is a standard topographical map used by defense 

forces.
 c. The land features are represented on toposheet with the help of symbols known 

as conventional signs.   
 d. The scale of toposheet varies from 1 : 250000 to 1 : 25000.
 A) Statement a and d are incorrect and b and c are correct
 B) Statement a is incorrect and b, c and d are correct
 C) Statement a , b and d are incorrect and c is correct
 D) Statement d is correct and a, b, c are incorrect

 14. Examine the statements and choose the correct one.

 a. The narrow zone of discontinuity based on change in mineral composition 

between crust and mantle is known as Mohorovicic discontinuity.

 b. The crust and upper mantle are together called Asthenosphere.

 A) Statement a and b are correct B) Statement a is correct and b is wrong

 C) Statement b is correct and a is wrong D) Statement a and b are incorrect

 15. Select the correct answer using the code given below in the List.
    List – I            List – II

 I. Mineral Heartland of India a. Mumbai

 II. Zirconium b. West Bengal 

 III. Cottonpolis of India c. Chotanagpur Plateau

 IV. Indian Iron and Steel Company d. Kerala Coast 

 A) I – d, II – b, III – a, IV– c B) I – b, II – a, III – c, IV – d 
 C) I – a, II – d, III – b, IV – c D) I – c, II – d, III – a, IV – b
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 11.  S\qOUka] S\¡¨OW.
    kŸ]W – I  kŸ]W – II
 a. C£¡SNaLÕ]¨¤ W¦Sv¡^¢yV SyL¦ I. WOf]q AƒLUwU
 b. Rvð¡RRsyV II. SkLtL¡ NlºV
 c. Dp¡Ð Dk DxVeSoXsL III. 30� ¨OU 60� AƒLUw¾]jOU Cap]¤ 
    ò]f] R\áOÐO
 d. fLuVÐ DkNiOvU IV. ScL¥NcU 
 A) a – IV, b – I, c – III, d – II B) a – III, b – IV, c – I, d – II 
 C) a – IV, b – III, c – I, d – II D) a – I, b – IV, c – III, d – II

 12. SWqt¾]Rs SrLcV yLNÎf 
 A) 548 W].o}./100 \fOqè W].o}. B) 627 W].o}./100 \fOqè W].o}. 
 C) 258 W].o}./100 \fOqè W].o}. D) 329 W].o}./100 \fOqè W].o}.

 13. fLRu fÐ]q]¨OÐ NkñLvjWt]¤ JfLeV wq] ?
 a. SaLSÕLx}ã]¤ wLw~f y~nLvoOç ^sLwp°¥ WLe]¨OÐf]jV WrOÕV j]rU   

DkSpLY]¨OÐO. 
 b. 1 : 50000 RØp]s]sOç KqO nPkaU Nkf]SqLi SyjW¥ DkSpLY]¨OÐ KqO  

j]svLqoOç SaLSÕLNYLl]¨¤ oLÕLeV.
 c. kqÒqLYf \]ø°¥ IÐr]pRÕaOÐ \]ø°tORa yzLpS¾LRa nPNkWQf]

pORa yv]SwxfW¥ SaLSÕLx}ã]¤ Nkf]j]i}Wq]¨OÐO.   
 d. SaLSÕLx}ã]R£ RØp]¤ 1 : 250000 oOf¤ 1 : 25000 vRq v|f|LyRÕaOÐO.
 A) NkñLvj a, d IÐ]v RfãLeV, b, c IÐ]v wq]pLeV
 B) NkñLvj a RfãLeV, b, c, d IÐ]v wq]pLeV
 C) NkñLvj a, b, d IÐ]v RfãLeV, c wq]pLeV
 D) NkñLvj d wq]pLeV, a, b, c IÐ]v RfãLeV

 14. NkñLvjW¥ kq]SwLi]ˆV wq]pLpfV f]qR´aO¨OW.
 a. kOrUSfLaV, BvqeU IÐ]và]ap]sOç iLfO¨tORa Zajp]Rs oLãR¾ Aa]

òLjoL¨]pOç v]S±hj¾]R£ CaO°]p SoXsRp RoLSzLSrLv]y]WV v]S±hjU 
IÐV v]t]¨OÐO.

 b. kOrUSfLaV, oOWt]Rs BvqeU IÐ]vRp KqOo]ˆV ARñSjLl]p¡ IÐV  
v]t]¨OÐO.

 A) a, b IÐ} NkñLvjW¥ wq]pLeV
 B) NkñLvj a wq]pLeV,  b RfãLeV
 C) NkñLvj b wq]pLeV a RfãLeV
 D) a, b IÐ} NkñLvjW¥ RfãLeV

 15. kŸ]Wp]¤ fLRu j¤W]p]q]¨OÐ SWLcOW¥ DkSpLY]ˆV wq]pLp D¾qU 
  f]qR´aO¨OW.
    kŸ]W – I  kŸ]W – II
 I. CÍ|pORa iLfO zQhpnPo] a. oOURRm
 II. y]¡S¨Le]pU b. ké]o mUYL¥
 III. CÍ|pORa SWLŸ¦SkLt]yV c. SMLŸLjLYVkP¡ k}bnPo]
 IV. CÍ|¢ Ap¦ B¢cV ð}¤ WÒj] d. SWqt f}qU 

 A) I – d, II – b, III – a, IV – c B) I – b, II – a, III – c, IV – d 
 C) I – a, II – d, III – b, IV – c D)  I – c, II – d, III – a, IV – b
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 16. Which is/are true for Treasury Bills in India ?
 I.  Treasury Bills are issued by State Governments.
 II.  Treasury Bills are less liquid compared to Call Loans.
 III. Only Central Government can issue Treasury Bills.
 IV.  Treasury Bills are not eligible for inclusion in Statutory Liquidity Ratio by Banks.

 A) Only I and IV   B) Only II and III
 C) Only III and IV   D) Only II, III and IV

 17. GDP at Factor Cost is equal to
 A) GNP at Market Price minus Net Indirect Tax minus Depreciation minus Net 

Factor Income from Abroad 
 B) NNP at Market Price plus Depreciation minus Net Factor Income from Abroad 

minus Net Indirect Tax 
 C) NDP at Factor Cost plus Net Factor Income from Abroad plus Depreciation plus 

Net Indirect Tax 
 D) GNP at Factor Cost minus Net Factor Income from Abroad plus Depreciation 

minus Net Indirect Tax

 18. Which of the following statement is correct about the “Optimal Mix” of taxes ?
 A) It maximizes the tax revenue for the Government. 
 B) It leaves the tax revenue unchanged. 
 C) It minimizes the excess burden due to taxation. 
 D) It leaves the economy neutral in its effect.

 19. Of the following which is not true about the estimation of Personal Disposable Income ?
 I.  It includes retained profit and excludes transfer payments.
 II.  It includes transfer payments but excludes rent and interest.
 III.  It includes personal tax but excludes transfer payments.
 IV.  It excludes personal taxes and includes transfer payments.
 A) Only I and IV   B) Only II and IV 
 C) Only I, II and III   D) Only IV

 20. Of the following, which is/are not correct in respect of ‘Autonomous Liquidity (AL)’ 
related to ‘Liquidity Adjustment Facility (LAF)’ ?

 I.  It consists of liquidity flows that flows to commercial banks without monetary 
policy actions.

 II. It includes policy induced flows from the RBI to Scheduled Commercial Banks.
 III. It consists of Central Bank Balance Sheet flows that arise from regular central 

banking functions as currency authority. 
 IV. It is the sum of Central Bank Balance Sheet flows that arise out of money market 

operations.
 A) Only II and IV   B) Only II and III
 C) Only I and III   D) Only I and IV
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 16. CÍ|p]Rs Naxr] m]ŠOW¥¨V JfLeV wq] ?
 I.  yUòLj y¡¨LqLeV Naxr] m]ŠOW¥ j¤WOÐfV.
 II. SWL¥ SsLeOWRt ASkƒ]ˆV Naxr] m]ŠOW¥¨V s]W~]cV WOrvLeV.
 III. Naxr] m]ŠOW¥ j¤WL¢ SWNÎ y¡¨Lq]jV oLNfSo Wu]pP.
 IV. mLËOW¥ j]pokqoLp s]W~]c]ã] AjOkLf¾]¤ D¥RÕaO¾OÐf]jV Naxr]  

m]ŠOW¥ SpLY|oŠ.

 A) I DU IV DU oLNfU   B) II DU III DU oLNfU
 C) III DU IV DU oLNfU   D) II DU III DU IV DU oLNfU

 17. lLû¡ R\sv]¤ GDP IÍ]jO fOs|oLeV ?
 A) v]ke] v]sp]¤ GNP RRojyV Aã kSqLƒ j]WOf] RRojyV oPs|¾W¡ˆ RRojyV 

v]Shw¾O j]ÐOç Aã ZaW vqOoLjU 
 B) v]ke] v]sp]Rs NNP kæyV  oPs|¾W¡ˆ RRojyV v]Shw¾V j]ÐOç Aã ZaW 

vqOoLjU RRojyV Aã kSqLƒ j]WOf] 
 C) lLû¡ SWLð]Rs NDP kæyV  v]Shw¾V j]ÐOç Aã ZaW vqOoLjU kæyV 

oPs|¾W¡ˆ kæyV Aã kSqLƒ j]WOf] 
 D) lLû¡ SWLð]Rs GNP RRojyV v]Shw¾V j]ÐOç Aã ZaW vqOoLjU kæyV 

oPs|¾W¡ˆ RRojyV Aã kSqLƒ j]WOf]

 18. j]WOf]WtORa "KkVã]o¤ o]èeU' yUmÌ] V̂ fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?
 A) CfV y¡¨Lq]jV kqoLvi] j]WOf] vqOoLjU j¤WOÐO 
 B) CfV j]WOf] vqOoLj¾]¤ oLão]ŠLRf fOaqOÐO 
 C) CfV j]WOf] oPsoOºLWOÐ Ai]W nLqU WOràOÐO
 D) CfV Af]R£ ls¾]¤ yÒhVv|vòRp j]x×ƒfp]sL¨OÐO

 19. v|©]Yf c]yVSkLy]m]¥ vqOoLjU We¨L¨OÐfV yUmÌ]ˆV fLRuÕrpOÐvp]¤ 
  wq]pŠL¾fV JfLeV ?
 I. Cf]¤ j]sj]¡¾]p sLnU D¥RÕaOÐO, NaL¢ó¡ SkpVRo£OW¥ Ku]vL¨OÐO.
 II. Cf]¤ NaL¢ó¡ SkpVRo£OW¥ D¥RÕaOÐO, IÐL¤ vLaWpOU ks]wpOU Ku]vL¨OÐO. 
 III. Cf]¤ v|©]Yf j]WOf] D¥RÕaOÐO, IÐL¤ NaL¢ó¡ SkpVRo£OW¥ Ku]vL¨OÐO. 
 IV. CfV v|©]Yf j]WOf]W¥ Ku]vL¨OWpOU NaL¢ó¡ SkpVRo£OW¥ D¥RÕaO¾OWpOU 
  R\áOÐO.
 A) I DU IV DU oLNfU   B) II DU IV DU oLNfU 
 C)  I DU II DU III DU oLNfU   D) IV oLNfU

 20. s]W~]c]ã] AcV^ðVRo£V yTWq|vOoLp] (LAF) mÌRÕŸ y~pUnqe Nhv|fpOoLp]   
(AL) yUmÌ]ˆ wq]pŠL¾ NkñLvjW¥ fLRuÕrpOÐvp]¤ Jv ?

 I. kejp jaka]Wt]ŠLRf vLe]^| mLËOWt]Ss¨V KuOWOÐ kesn|f.
 II. B¡. m]. RI. p]¤ j]ÐV Rxc|P¥cV vLe]^| mLËOWt]Ss¨Oç  

SkLt]y]&C¢c|PyVcV SlæLW¥ Cf]¤ D¥RÕaOÐO.
 III. Wr¢y] Ai]WLq]W¥ IÐ j]sp]¤ yLiLqe Ry¢Na¤ mLË]UYV Nkv¡¾j°t]¤ 

j]ÐV DºLWOÐ Ry¢Na¤ mLËV mLs¢yV x}ãV SlæLW¥ Cf]¤ Aa°]p]q]¨OÐO. 
 IV. oe] oL¡¨ãV Nkv¡¾j°t]¤ j]ÐV DºLWOÐ Ry¢Na¤ mLËV mLs¢yV x}ãV 

SlæLWtORa BRW¾OWpLeV CfV.
 A) II DU IV DU oLNfU   B) II DU III DU oLNfU 
 C) I DU III DU oLNfU   D) I DU IV DU oLNfU
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 21. Which of the following statement is/are correct about Emergency Powers of the 
Union Government ?  

 I. Three different kinds of Emergency Powers are there in the Indian Constitution.
 II. A Proclamation of Emergency may be made by the President at any time he is 

satisfied that the security of India or any part of India has been threatened by 
war external aggression or armed rebellion. 

 A) Only I   B) Only II 
 C) Only I and II   D) Both I and II are wrong

 22.  Which Schedule of the Indian Constitution deals with the Division of Powers between 
Union and the States ?

 A) 2nd B) 7th C) 12th D) 1st

 23. Which of the following statement is/are not correct about National Human Rights 
Commission ? 

 I. The NHRC has been appointed by an Act of Parliament.
 II. The Commission is responsible for spreading awareness amongst the masses. 
 III. Chairperson of National Commission for Women is an ex-officio member of 

NHRC.
 IV. Members of NHRC are appointed by the President in consultation with Chief 

Justice of Supreme Court of India.
 A) Only I   B) Only I, II and IV
 C) Only III   D) Only IV

 24. The word Secularism is incorporated in the Preamble through which Constitutional 
Amendment ?

 A) 42nd B) 44th C) 46th D) 43rd

 25. The term Socialism in the Indian Constitution indicates
 I. Nationalisation of all means of production and the abolition of private property.
 II. Nationalisation of only major sectors of economy and make some sort of 

restriction on the exercise of private property. 
 A) Only I   B) Only II
 C) All of the above I and II D) Both I and II are wrong

 26. Recruitment to All India Service is made by
 A) UPSC   B) State Public Service Commission
 C) Joint Public Service Commission D) Staff Selection Commission

 27. Who gives recognition to the political parties in India ?
 A) Indian Parliament   B) Supreme Court of India
 C) Election Commission of India D) Central Government

 28. A command issued by the Supreme Court or High Court when a public official refuses 
to perform his duties is

 A) Habeas Corpus B) Mandamus C) Certiorari D) Quo Warranto
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 21. SWNÎ Yv¦Ro£]R£ Aa]pÍq Ai]WLq°Rt¨Or]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ 
JfLeV wq] ?  

 I. oPÐV v|f|ñ fq¾]sOç Aa]pÍq Ai]WLq°¥ CÍ|¢ nqeZajp]sOºV.
 II. pOÈU, mLz| BNWoeU ARsæË]¤ yLpOi WsLkU IÐ]vpL¤ CÍ|pORaSpL 

CÍ|pORa JRfË]sOU nLY¾]R£SpL yOqƒàV n}xe]pORºÐV SmLi| 
RÕŸL¤ qLNìkf]¨V ISÕL¥ SveRoË]sOU Aa]pÍqLvò NkX|LkjU 
ja¾LvOÐfLeV. 

 A) I oLNfU   B) II oLNfU 
 C) I DU II DU oLNfU   D) qºOU (I DU II DU) RfãLeV

 22. CÍ|¢ nqeZajpORa JfV Rxc|Pt]sLeV pPe]pjOU yUòLj°tOU fÚ]sOç  
Ai]WLq v]n^jR¾ WOr]\ÿV Nkf]kLh]¨OÐfV ?

 A) 2nd B) 7th C) 12th D) 1st

 23. Shw}p ojOx|LvWLw WÚ}xRj yUmÌ]\ÿV fLRu krpOÐvp]¤ JfLeV/
JRfLR¨pLeV wq]psæL¾fV ? 

 I. kL¡sRo£]R£ j]poNkWLqoLeV  NHRC Rp j]po]\ÿ]q]¨OÐfV.
 II. ^j°¥¨]ap]¤ SmLiv¤¨qeU ja¾LjOç D¾qvLh]¾U WÚ}xjLeV. 
 III. Shw}p vj]fL WÚ}x¢ R\p¡SkuVy¦ KqO NHRC IWõV&KLl]Sx|L AUYU BeV.
 IV. CÍ|¢ yONk}U SWLaf] \}lV ^ð]yOoLp] WPa]pLSsL\]\ÿV qLNìkf]pLeV  NHRC 

AUY°Rt j]po]¨OÐfV.

 A) I oLNfU   B) I DU II DU IV DU oLNfU  

 C) III oLNfU   D) IV oLNfU

 24. JfV nqeZajL SnhYf]p]sPRapLeV oSffqf~U IÐ vL V̈ BoOX¾]¤ D¥RÕaO¾]
p]q]¨OÐfV ?

 A) 42nd B) 44th C) 46th D) 43rd

 25.  CÍ|¢ nqeZajp]Rs SyLx|s]yU IÐ khU yP\]Õ]¨OÐfV 
 I. IsæL D¤kLhj oL¡«°tORapOU ShwyL¤¨qeU, y~WLq| y~¾V j]¡¾sL¨¤.
 II. yÒhVv|vòpORa NkiLj SoXsWRt oLNfU ShwyL¤¨q]¨OWpOU y~WLq| y~¾V 

v]j]SpLY]¨OÐf]jV \]s j]pNÍe°¥ J¡RÕaO¾OWpOU R\áOW. 

 A) I oLNfU   B) II oLNfU 
 C) oOWt]¤ kr´vRpsæLU (I DU II DU) D) qºOU (I DU II DU) RfãLeV

 26. AX]SsÍ|L y¡vÿ}y]Ss¨Oç r]NWPŸVRo£V ja¾OÐfV
 A) UPSC   B) yUòLj kmæ]WV y¡vÿ}yV WÚ}x¢
 C) S^Lp]£V kmæ]WV y¡vÿ}yV WÚ}x¢ D) ðLlV Rysƒ¢ WÚ}x¢

 27. CÍ|p]Rs qLNì}p kL¡Ÿ]W¥¨V BqLeV AUY}WLqU j¤WOÐfV ?
 A) CÍ|¢ kL¡sRo£V   B) CÍ|pORa yONk}USWLaf]
 C) CÍ|¢ f]qR´aOÕV WÚ}x¢ D) SWNÎ y¡¨L¡

 28. KqO RkLfO DSh|LYò¢ fR£ \OofsW¥ j]¡vÿz]¨L¢ v]yÚf]¨OSÒL¥ yONk}U 
SWLaf]SpL RRzS¨Laf]SpL kOrRÕaOv]¨OÐ WoL¢cV 

 A) Szm]pyV SWL¡ÕyV   B) oL¢coyV 
 C) Ry¡Ÿ]SpLrr]   D) SW~L vLr¢SãL
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 29. Institution which is competent to enquire into corruption allegations against  
Prime Minister, or a Minister in the Union Government or Member of Parliament ? 

 A) Lokayukta   B) High Court 
 C) Indian President   D) Lokpal

 30. Which Article of the Constitution of India deals with the procedure for the election of 
Indian President ? 

 A) 352 B) 54 C) 325 D) 66

 31. Name of a traditional Dance-Drama of Assam.
 A) Kathak B) Sattriya C) Odissi D) Chhau

 32. What is the motto of South Asian  Games ? 
 A) Peace, Prosperity and Progress B) Achievement and Progress 
 C) Progress and Victory   D) Peace and Prosperity

 33. Give the year in which M. T. Vasudevan Nair received Jnanapith Award.
 A) 2019 B) 1984 C) 2007 D) 1995

 34. What is the venue of Nehru Trophy Boat Race ?
 A) Punnamada Lake   B) Kumarakom
 C) Vembanad Lake   D) Pampa River

 35. Who is known as Kerala Maupassant ?
 A) O. Chandu Menon   B) G. Sankara Kurup 
 C) M. T. Vasudevan Nair  D) Thakazhi Sivasankara Pillai 

 36. Who is known as Kerala Vyasan ?
 A) O. N. V. Kurup   B) Ezhuthachan 
 C) Kunhikuttan Thampuran D) Ravi Varma

 37. Which place is associated with Athachamayam ? 
 A) Thuravoor B) Thripunithura C) Thrikkakara D) Thrissur

 38. From which place did Kuchipudi originate ? 
 A) Andhra Pradesh   B) Tamil Nadu C) Kerala D) Odisha

 39. Give the name of an International multi sports event conducted for athletes with 
physical disabilities.

 A) Summer Olympics   B) SAF Games 
 C) Paralympic Games   D) Winter Olympics
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 29. NkiLjoNÍ]SàL SWNÎy¡¨Lq]Rs oNÍ]SàL kL¡sRo£V AUY¾]SjL If]qLp Au]of]
pLSqLke°¥ ASj~x]¨L¢ SpLY|fpOç òLkjU. 

 A) SsLWLpO©   B) RRzS¨Laf] 
 C) CÍ|¢ Nky]c£V   D) SsLWVkL¤

 30. CÍ|¢ nqeZajpORa JfV B¡Ÿ]¨]¥ BeV CÍ|¢ qLNìkf]pORa f]qR´aOÕ]R£ 
jaka]NWo°¥ RRWWLq|U R\áOÐfV ? 

 A) 352 B) 54 C) 325 D) 66

 31. Ayo]Rs KqO kqÒqLYf jQ¾&jLaW¾]R£ SkqV
 A) WgWV B) yNf]p C) Kc]ô] D) \TvO

 32. hƒ]Sex|¢ RYp]oOWtORa oONhLvLW|U IÍLeV ? 
 A) yoLiLjU, yoQÈ], kOSqLYf] B) SjŸvOU kOSqLYf]pOU
 C) kOSqLYf]pOU v]^pvOU D) yoLiLjvOU yoQÈ]pOU

 33. IU. a]. vLyOShv¢ jLp¡¨V ³Ljk}b kOqØLqU sn]ˆ v¡xU JfV ?

 A) 2019 B) 1984 C) 2007 D) 1995

 34. RjzVrO SNaLl] vçUWt]pORa Svh] JfLeV ?
 A) kOÐoa WLp¤   B) WOoqWU
 C) SvÒjLaV WLp¤   D) kÒ jh]

 35. SWqt oTÕy£V IÐr]pRÕaOÐfV BqV ?
 A) K. \ÍOSoSjL¢   B) ^]. wËq¨OrOÕV 
 C) IU. a]. vLyOShv¢ jLp¡ D) fWu] w]vwËqÕ]ç

 36. SWqt v|Ly¢ IÐr]pRÕaOÐfV BqLeV ?
 A) K. I¢. v]. WOrOÕV   B) IuO¾±¢ 
 C) WO´]¨OŸ¢ fÒOqL¢  D) qv] v¡Ú

 37. JfV òsoLeV A¾ˆopvOoLp] mÌRÕŸ]q]¨OÐfV ? 
 A) fOrvP¡ B) fQÕPe]¾Or C) fQ¨L¨q D) fQêP¡

 38. WOˆ]ÕOa] Iv]Ra j]ÐLeV DÂv]ˆfV ? 
 A) BNÌL NkShwV   B) fo]uVjLaV C) SWqtU D) Kc}x

 39. wLq}q]W RRvWs|oOç WLp]WfLq°¥¨Lp] ja¾OÐ KqO AÍLqLNìo¥Ÿ] 

Sy×L¡aVyV Cv£]R£ SkqV ?

 A) Svj¤¨Ls Kt]Ò]WõV   B) SAF RYp]oOW¥ 

 C) kLqLs]Ò]WV RYp]oOW¥ D) w}fWLs Kt]Ò]WõV
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 40. Who introduced Ottan Thullal ?
 A) Ezhuthachan   B) Kunjikuttan Thampuran 
 C) O. V. Vijayan   D) Kunjan Nambiar

 41. The technology used by e-book readers like Amazon kindle is
 A) E-Book B) E-Board C) E-Ink D) E-Panel

 42. ______ is not a function of operating systems.
 A) Memory management  B) Processor management
 C) Input-output management D) Resource allocation

 43. _______ device can join a LAN to a WAN.
 A) Hub B) Bridge C) Router D) Gateway

 44. A document containing links, in addition to normal text, to other documents is called a
 A) Hypertext   B) HTML
 C) Home page   D) None of these

 45. The cyber crime where a hacker sends malicious links to users to gain access to 
their computers and accounts is called

 A) Identity theft   B) Ransomeware
 C) Spoofing   D) Phishing

 46. The Indian Scientist who discovered the compound Mercurous Nitrite is
 A) Meghnad Saha   B) Prafulla Chandra Ray 
 C) Homi J. Bhaba   D) Satyendra Nath Bose

 47. ________ is the marketing arm of ISRO which markets space products and services 
of ISRO to domestic and international customers.

 A) ISTRAC B) ANTRIX C) CENTRIX D) ISMARKET

 48. Which among the following is not a renewable energy source ? 
 A) Hydro energy   B) Geothermal energy 
 C) Natural gas energy   D) Biomass energy

 49. ________ makes up the major share of greenhouse gas emissions. 
 A) Carbon dioxide   B) Carbon monoxide
 C) Nitrogen   D) Nitrus oxide

 50. Which among the following is not a major element of sustainable development ? 
 A) Climate change   B) Economic growth
 C) Social inclusion   D) Environmental protection
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 40. KLŸ¢ fOçs]R£ Dk³LfLvV.
 A) IuO¾±¢   B) WO´]¨OŸ¢ fÒOqL¢ 
 C) K. v]. v]^p¢   D) WOµ¢ jÒ|L¡

 41. BoSyL¦ W]¢c]¤ SkLRspOç C&mO V̈ r}c¡oL¡ DkSpLY]¨OÐ yLSËf]W v]h|pLeV
 A)  C&mO¨V  B)  C&SmL¡cV C)  C&CËV  D)  C&kLj¤

 42. ______ KLÕSrã]UYV y]ð°tORa Nkv¡¾josæ.
 A) RoÚr] oLSj^VRo£V   B) SNkLyô¡ oLSj^VRo£V
 C) C¢kOŸV&KTŸVkOŸV oLSj^VRo£V D) v]nvv]z]fU (Resource Allocation)

 43. _______ DkWqe¾]jV WAN-Ss¨V LAN-Rj S\¡¨L¢ BWOU.
 A) zmV  B) Nm]cV^V C) rPŸ¡ D) SYãVSv

 44. yLiLqe RaWVðV WPaLRf oãV ScLW|ORo£]Ss¨Oç s]ËOW¥ Aa°]p KqO  
ScLW|ORo£]Rj _______ IÐV v]t]¨OÐO.

 A) RRzÕ¡RaWVðV B) HTML C) SzLU Sk^V D) CRfLÐOosæ

 45. KqO zL¨¡ DkSpL©L¨tORa WÒ|PŸrOWt]Ss¨OU A¨TºOWt]Ss¨OU NkSvwjU 
SjaOÐf]jV ƒONhWqoLp s]ËOW¥ Ap¨OÐ RRym¡ WOãWQf|R¾ _______ IÐV 
v]t]¨OÐO.

 A) RIc£]ã] RflVãV   B) rL¢yUSv¡ 
 C) y×Pl]UYV   D) l]x]UYV

 46. Ro¡¨OryV RRjSNaãV IÐ yUpO©U WºOk]a]\ÿ CÍ|¢ wLNñ³¢.
 A) SoZVjLgV yLz   B) NklOsæ \NÎ rLpV 
 C) SzLo] R^ mLm   D) ySf|NÎjLgV SmLyV

 47. ________ ISRO pORa v]kej v]nLYoLeV, AfV ISRO pORa mz]qLWLw D¤ÕÐ°tOU 
Syvj°tOU Bn|Íq, AÍ¡Shw}p DkSnL©L¨¥¨V v]kejU R\áOÐO.

 A) ISTRAC B) ANTRIX C) CENTRIX D) ISMARKET

 48. fLRuÕrpOÐvp]¤ kOjqOkSpLY]¨LvOÐ DT¡² SNyLfôsæL¾fV ? 
 A) ^s DT¡²U   B) ^]SpL fLk DT¡²U 
 C) NkWQf] vLfW DT¡²U  D) mSpLoLyV DT¡²U

 49. zq]fYQz vLfW Dh~oj¾]R£ NkiLj kËV ________ BeV. 
 A) WL¡m¦ RRc KLWVRRycV B) WL¡m¦ SoLSeLWVRRycV
 C) RRjNa^¢   D) RRjNayV KLWVRRycV

 50. fLRuÕrpOÐvp]¤ yOò]q v]Wyj¾]R£ NkiLjZaWU AsæL¾fV JfV ? 
 A) WLsLvòL v|f]pLjU  B) yLÒ¾]W vt¡\ÿ
 C) yLoPz]W D¥RÕaO¾¤ D) kq]ò]f] yUqƒeU
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 51. The remainder obtained when 1! + 2! + 3! + ... + 95! is divided by 15 is
 A) 3 B) 14 C) 1 D) 0

 52. Ravi studies for 5
2

3
hours daily. He devotes 2

4

5
hours of his time to Science and 

Mathematics. How much time does he devote to other subjects ?

 A) 2
11
15 hours B) 3

13

15
hours C) 3

11

15
hours D) 2

13

15
hours

 53. Raju’s income is 20% less than that of Rahim. How much percentage is Rahim’s 
income more than that of Raju’s income ?

 A) 20 B) 25 C) 30 D) 35

 54. If the compound interest on a certain sum at 4% for 2 years is ` 2,448, then the 
simple interest on the same sum at the same rate for the same period is  

 A) ` 2,500 B) ` 2,400 C) ` 2,436 D) ` 2,420

 55. If 15
18 6

10
30

� � �
x

y
z , then the value of x + y + z is equal to  

 A) 25 B) 37 C) 42 D) 40

 56.  In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average 

speed for the trip was reduced by 200 km/hr and the time of the flight increased by 

30 minutes. The duration of the flight is

 A) 1 hour B) 3 hours C) 2 hours D) 4 hours

 57. The arithmetic mean of the weights of 14 students in a class is 42 kgs. If the weight 

of the teacher is also included, the mean weight increases by 600 grams. Then the 

weight of the teacher is

 A) 64 kgs B) 54 kgs C) 62 kgs D) 51 kgs

 58. The sum of all two-digit numbers which leave the remainder of 5 when they are 

divided by 7 is equal to 

 A) 715 B) 702 C) 615 D) 602

 59. If f is a function satisfying f(x + y) = f(x) f(y) for all x, y ��  such that f(1) = 3 and 

f x
x

n
( ) �

�� 120
1 , then the value of n is 

 A) 5 B) 6 C) 4 D) 8
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 51. 1! + 2! + 3! + ... + 95! Rj 15 RWLºV zq]¨OSÒL¥ sn]¨OÐ w]ìU INf ?
 A) 3 B) 14 C) 1 D) 0

 52. qv] h]vyvOU5
2

3
 oe]¨P¡ kb]¨OÐO. wLNñ¾]jOU Ye]f¾]jOU Svº] Av¢ fR£ 

  yop¾]R£ 2
4

5
oe]¨P¡ j}¨] vàOÐO. oãV v]xp°¥¨Lp] Av¢ INf yopU  

R\svu]¨OÐO ? 

 A) 2
11
15 oe]¨P¡ B) 3

13

15
oe]¨P¡ C) 3

11

15
oe]¨P¡ D) 2

13

15
oe]¨P¡

 53. rz}o]R£ vqOoLjS¾¨L¥ 20% WOrvLeV qL^Ov]R£ vqOoLjU. rz}o]R£ vqOoLjU 
qL^Ov]R£ vqOoLjS¾¨L¥ INf wfoLjU WPaOfsLeV ? 

 A) 20 B) 25 C) 30 D) 35

 54. 2 v¡xS¾ V̈ KqO j]é]f fOWpORa 4% WPŸOks]w ̀  2,448 BReË]¤, ASf WLsptv]Rs 
ASf j]q¨]sOç ASf fOWpORa st]foLp ks]w  

 A) ` 2,500 B) ` 2,400 C) ` 2,436 D) ` 2,420

 55.  15
18 6

10
30

� � �
x

y
z  BReË]¤  x + y + z R£ oPs|U INfpLeV ?  

 A) 25 B) 37 C) 42 D) 40

 56. 600 W]SsLo}ã¡ kr¨OÐf]j]Ra SoLwU WLsLvòRp fOa¡ÐV v]oLj¾]R£ SvYf 
WOr´O. pLNfàOç Af]R£ wqLwq] SvYf oe]¨Pr]¤ 200 W]SsLo}ã¡ WOrpOWpOU 
RRlæã]R£ yopU 30 o]j]ãV v¡È]¨OWpOU R\pÅO. v]oLj¾]R£ RRh¡Z|U ______
BeV.

 A) 1 oe]¨P¡ B) 3 oe]¨P¡ C) 2 oe]¨P¡ D) 4 oe]¨P¡

 57. KqO WæLô]Rs 14 v]h|L¡À]WtORa nLq¾]R£ Ye]f wqLwq] 42 kgs BeV. Ai|LkWR£ 
nLqvOU WPa] D¥RÕaO¾]pL¤ wqLwq] nLqU 600 NYLU Bp] v¡È]¨OU. ASÕL¥ 
Ai|LkWR£ nLqU. 

 A) 64 kgs B) 54 kgs C) 62 kgs D) 51 kgs

 58. IsæL qºV A¨yUX|WtORapOU BRW fOWRp 7 RWLºV zq]¨OSÒL¥ Swx]¨OÐfV   

5 BReË]¤ JfV yUX| Cf]jV fOs|oLp]q]¨OU ?  

 A) 715 B) 702 C) 615 D) 602

 59. f IÐfV  f(x + y) = f(x) f(y) IsæL x, y ��  jOU f(1) = 3, f x
x

n
( ) �

�� 120
1  IÐ]°Rj 

fQkÅ]RÕaO¾OÐ KqO lUYVxjLReË]¤ n R£ oPs|U 

 A) 5 B) 6 C) 4 D) 8
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 60.  If 4 0 5
1
8

1 3 2x x
x

� �� � �
�
�

�
�
�( . ) , then the value of x is 

 A) 1 B) 
1
2

 C) 
7
5

 D) 
5
7

 

 61. The 20th term of the series 2 × 4 + 4 × 6 + 6 × 8 + ....  is 
 A) 1680 B) 1640 C) 1600 D) 1620

 62. Let x y
x y

y
� �

� 2  for y ��0. If 4 ��5 = k ��10, then the value of k is

 A) 7 B) 8 C) 9 D) 6

 63. If CENTURY is coded as AGLVSTW, then what is the code for SACHIN ?  
 A) QCAFKL B) UCEFGL C) QCAJGP D) UCAJGP

 64. Find the odd among the following.
 A) SORE B) SOTLU C) NORGAE D) MEJNIAS

 65. Two cars start from the opposite places of a main road, 150 km apart. The first car 
runs for 25 km and takes a right turn and then runs 15 km. It then turns left and then 
runs for another 25 km and then takes the direction back to reach the main road.  
In the meantime, due to a minor break down the other car has run only 35 km along 
the main road. What would be the distance between two cars at this point ?

 A) 85 km B) 75 km C) 80 km D) 65 km 

 66. If today is Saturday, what will be the day 350 days from now ? 
 A) Saturday B) Monday C) Friday D) Sunday

 67. What will come in place of question mark (?) in the following series ?

   35  210  1050  4200  ?  25200

 A) 12340 B) 12600 C) 12200 D) 12580

 68. A clock is set right at 5 a.m. The clock loses 16 minutes in 24 hours. What will be 
the true time when the clock indicates 10 p.m. on 4th day ?

 A) 12 p.m.  B) 10 p.m.  C) 9 p.m. D) 11 p.m. 

 69. If the minute hand of a clock has moved 300°, then how many degrees has the hour 
hand moved ? 

 A) 25° B) 150° C) 50° D) 300°

 70. The difference of two numbers is 1365. On dividing the larger number by the smaller, 
we get 6 as quotient and the 15 as remainder. What is the smaller number ?

 A) 240 B) 270 C) 295 D) 360
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 60. 4 0 5
1
8

1 3 2x x
x

� �� � �
�
�

�
�
�( . ) BReË]¤  x R£ oPs|U 

 A) 1 B) 
1
2

 C) 
7
5

 D) 
5
7

 

 61. 2 x 4 + 4 x 6 + 6 x 8 +...... IÐ kqÒqpORa 20-LU khU ______ BeV. 
 A) 1680 B) 1640 C) 1600 D) 1620

 62. y ��0 jV x y
x y

y
� �

� 2  BeV. 4 ��5 = k �10 BReË]¤, k pORa oPs|U ______ BeV.

 A) 7 B) 8 C) 9 D) 6

 63. CENTURY IÐfV AGLVSTW IÐLeV SWLcV R\pÅ]q]¨OÐRfË]¤, SACHIN R£ 
SWLcV IÍLeV ?  

 A) QCAFKL B) UCEFGL C) QCAJGP D) UCAJGP

 64. fLRuÕrpOÐvp]¤ KãpLRj WRº¾OW.
 A) SORE B) SOTLU C) NORGAE D) MEJNIAS

 65. qºV WLrOW¥ KqO NkiLj SrLc]R£ If]¡ òs°t]¤ j]ÐV 150 W]SsLo}ã¡ AWRs 
j]ÐV BqUn]¨OÐO. Bh|R¾ WL¡ 25 W]SsLo}ã¡ KLaOÐO, vsS¾¨V f]q]´V 15  
W]SsLo}ã¡ KLaOÐO. k]Ð}aV CaS¾LŸV f]q]´V v}ºOU 25 W]SsLo}ã¡ KLaOWpOU k]Ð}aV 
h]w f]q]\ÿV NkiLj SrLc]Rs¾OWpOU R\áOÐO. Cf]j]ap]¤ KqO R\r]p fWqL¡ oPsU 
oSã WL¡ NkiLj SrLc]sPRa 35 W]SsLo}ã¡ oLNfU KLa]. CT yop¾V qºV WLrOW¥ fÚ]
sOç hPqU INfpLp]q]¨OU ?

 A) 85 km B) 75 km C) 80 km D) 65 km 

 66. CÐV wj]pLuV\pLReË]¤, Cj] 350 h]vyU Wu] V́ vqOÐ h]vyU IÍLp]q]¨OU ? 
 A) wj]pLuV\ B) f]ËtLuV\ C) Rvç]pLuV\ D) `LprLuV\

 67. fLRufÐ]ŸOç Sèe]p]Rs S\Lh|\]ø¾]R£ (?) òLj¾V IÍV vqOU ?

   35  210  1050  4200  ?  25200

 A) 12340 B) 12600 C) 12200 D) 12580

 68. qLv]Rs 5 oe] V̈ KqO SWæL V̈ y²}Wq]\ÿ]q]¨OÐO. SWæL¨]jV 24 oe]¨Pr]jOç]¤ 16 
o]j]ãV jìRÕaOÐO. jLsLoR¾ h]vyU qLNf] 10 oe] IÐV SWæL V̈ yP\]Õ]¨OSÒL¥ 
pgL¡À yopU IÍLp]q]¨OU ? 

 A) 12 p.m.  B) 10 p.m.  C) 9 p.m. D) 11 p.m. 

 69. KqO SWæL¨]R£ o]j]ãV yP\] 300°\s]\ÿ]ŸORºË]¤, oe]¨P¡ yP\] INf c]NY] \s]\ÿO ?  
 A) 25° B) 150° C) 50° D) 300°

 70. qºV yUX|WtORa v|f|LyU 1365 BeV. vs]p yUX|Rp R\rOfV RWLºV zq]¨OSÒL¥, 
jÚO V̈  6 ZaWoLpOU 15 w]ìoLpOU sn]¨OU. R\r]p yUX| JfLeV ? 

 A) 240 B) 270 C) 295 D) 360
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 71. Use the right gerund. 

  His __________ early in the morning helped him score well.
 A) to rise    B) rise  
 C) rising    D) having risen 

 72. Select the phrase from the sentence that contains an infinitive. 
  She went to the store to get some bread. 
 A) to get   B) no infinitive 
 C) some bread    D) to the store 

 73. Choose the correct form of the auxiliary verb that agrees with the subject.  
The information provided to you __________ wrong.

 A) were  B) was C) are D) have been 

 74. Choose the right preposition.

   I am good _______ lawn tennis. 
 A) about B) in C) at D) of

 75. Choose an option that expresses the sentence in transformed voice – Active/Passive. 
He is writing the book. 

 A) The book has been written by him.  B) The book is being written by him.  
 C) The book is written by him. D) The book was written by him.

 76. Complete the sentence using the right phrasal verb. 

  The meeting has been put ________ till tomorrow. (meaning : postpone)
 A) out  B) off C) up D) on

 77. Replace the underlined text with correct idioms or phrases given in the options. 

  The Police Officer left no stone unturned in his search for the serial killer. 
 A) Behave smartly    B) Conduct sincerely 
 C) Wasting no time   D) Try every possible way 

 78. Choose the correct degree of comparison for the given sentence. 

  Delhi is bad than Mumbai in terms of pollution.  
 A) Delhi is worst than Mumbai in pollution. 
 B) Delhi is as bad as Mumbai in terms of pollution.  
 C) Delhi is more bad than Mumbai in terms of pollution.   
 D) Delhi is worse than Mumbai in terms of pollution.
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 79. Choose the best one-word substitute for the underlined phrase in the sentence.  

We have bought a new sewing machine that can easily be carried anywhere.

 A) Cartable   B) Portable  

 C) Potable    D) Relatable 

 80. From the given options, choose the option that is the most opposite in the meaning 

to the underlined word.

  The world must realize the futility of wars. 

 A) Urgency    B) Value  

 C) Usefulness    D) Importance 

 81. From the given options, choose the option that is nearest in meaning to the 

underlined word.  

  The woman’s husband tends to vituperate her when he drinks. 

 A) Appreciate    B) Abuse  

 C) Appraise    D) Encourage 

 82. Fill in the blanks with appropriate words given in the option so that the sentence 

appears to be in the correct form of Tense. 

  The flight _________ before we reach the airport. 

 A) Will have taken off    B) Has taken off  

 C) Is taking off   D) Was taking off 

 83. Which of the following is correctly spelt ?

 A) Tresspass    B) Trespass 

 C) Tresspas   D) Trespas 

 84. Choose an appropriate Question Tag and fill in the blank.

  He is never late for the classes, __________ ?

 A) isn’t he   B) does he  

 C) doesn’t he    D) is he
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 85. Choose the appropriate feminine form of Horse from the following options. 

 A) Colt   B) Horsess  

 C) Mare    D) She-horse 

 86. Fill in the blank with appropriate collective noun.

  The farmer moved his _________ of cows to higher ground to avoid the flood. 

 A) group    B) batch  

 C) pack    D) herd

 87. Choose the most appropriate form of Indirect Speech for the following sentence.

  He said, “Oh! It’s a bad weather. I can’t drive.”

 A) He exclaimed with sorrow that it was a bad weather and he can’t drive.  

 B) He exclaimed with sorrow that it was a bad weather and he was not to drive.  

 C) He exclaimed with sorrow that it was a bad weather and he couldn’t drive. 

 D) He exclaims with sorrow that it was a bad weather and he couldn’t drive.

 88. Choose the most appropriate word to fill in the blank.

  Those tablets are really ________ my headache is much better now.  

 A) efficient    B) effective  

 C) sensitive    D) efficacious 

 89. Choose the correct meaning of the foreign words and phrases out of the four options.

  Via media :  

 A) extreme course   

 B) right course  

 C) left course  

 D) middle course 

 90. Choose the appropriate option to fill in the blank.

  Can you speak _______ Spanish ? 

 A) a   B) an

 C) the   D) no article
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 91. fLRu¾Ð]q]¨OÐf]¤ kP^W mzOv\j¾]jV DhLzqeU AsæL¾fV JfV ?
 A) AÈ|LkW¡ B) j]°¥ C) oLqL¡ D) wLNñ]W¥

 92. j]°¥ IÐ khU k]q]R\ÿuOfOW. 
 A) j} + W¥ B) j}¡ + W¥ C) j]° + A¥ D) j]¢ + W¥

 93. Af]g]Rp y~}Wq]¨OÐpL¥ IÐ¡ÀU vqOÐ khU JfV ? 
 A) Bh]Sjp¢ B) Bh]Sgp¢ C) Bf]Sip¢ D) Bf]Sgp¢

 94. wq]pLp khU WRº¾OW.
 A) ZcLWLqU B) ZºLYLqU C) XºLYLqU D) XºLWLqU

 95. fLRu¾Ð]q]¨OÐf]¤ ""kOµ'' IÐ kh¾]R£ v]kq}fkhU WRº¾OW. 
 A) kµ B) jµ C) fOµ D) oµ

 96. fLRu¾Ð]q]¨OÐf]¤ Nñ}s]UY khosæL¾fV JfV ?
 A) W}Wa] B) fky~] C) ƒo]Nf] D) ZLf]j]

 97. ^UYoU IÐ kh¾]R£ kq|LposæL¾fV WRº¾OW.
 A) h¾U B) CUYU C) NfyU D) \qU

 98. ZaWkhU S\¡R¾uOfOW. 

  jLaWU vL\]W NkiLjoLeV. WgWt] AeOSkLsOU Afsæ IÐOçfLeV.
 A) jLaWU vL\]W NkiLjoLeSsæL ? WgWt] AeOSkLsOU Afsæ IÐOçfLeV. 
 B) jLaWU vL\]W NkiLjoLp]q]S¨ WgWt] AeOSkLsOU Afsæ IÐOçfLeV. 
 C) jLaWU vL\]W NkiLjoLpf]jL¤ WgWt] AeOSkLsOU Afsæ IÐOçfLeV. 
 D) jLaWU vL\]W NkiLjoLeV AfORWLºV WgWt] AeOSkLsOU Afsæ IÐOçfLeV.

 99. ja¨L¢ NkpLyoOç vu] – KãÕhRouOfOW. 
 A) j]ìkgU   B) WìkgU 
 C) j}\kgU   D) hO¡«kgU

 100. NkñLvU – NkòLjU IÐ]vpORa A¡ÀU.
 1) kr\ÿ]¤ – pLNf   2) SW¥v] – NkSpLYU 
 3) k]rv] – KuO¨V   4) BqUnU – kOrÕLaV
 A) 1, 2 wq]pLeV   B) 3, 4 wq]pLeV 
 C) 1, 4 wq]pLeV   D) 2, 3 wq]pLeV 



116/22 – M 

A -22- 

Space for Rough Work



 116/22 – M

A -23- 

Space for Rough Work



116/22 – M 

A -24- 

            

S\Lh|°tORa BRW I¹U : 100 yopU : 75 o]j]ŸV 
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          DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

 2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

 4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

 5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

 8. CT S\Lh|SkÕr]Rs 1 oOf¤ 70 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU) Bp] 
A\ÿa]\ÿ]q]̈ OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV oLi|o¾]
sOç S\Lh|°tLeV BiLqoL¨OÐfV.

 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

 12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
  R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

 13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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